7-4 Parallel Lines & Proportional Parts o

Triangle Proportiondlity Theorem: R
If a line is parallel to one side of a triangle and infersects the other two sides,
then it divides the sides into segments of {% m;a ortiong | lengths.
i
If TU|| QS, then RT_RY T U
TQ US
Converse of the Triangle Proportionglity Theorem: Q S
if a line intersects fwo sides of a mcg égle and separates the sides tm‘o proportional corresponding
segmenfs, then the line is raiie to the third side of the triangle.
a .
if E‘l:&{ then TU || QS.
TQ US’
1-3: True or False:
L RT_RU YA B False . VR T[ye
TQ US Qs RS
4-5: In AQRS, TU Il QS. Use the given information to find each value.
4, RT=‘£§—-—2’;Q%TQ t+1,RU= 2cm RS 10 R 5. RU=7,RS=q,RT=46,andTQ=a-9 R
S 1
o s A e, L= 1 T-e=g ;AL
B gt Y a-a o1 =7 |
~3 o= a-9 ) Li?@
- 0 RT = i a= 2% Q= EZ Q s
Definition of Midsegment: . A
A midsegment of a triangie is a S ?‘fﬁ% Y with endpoints M /\Kf\
that are the ML A 0 ?’{% of two sides of the triangle. / D\Q\
Triangle Midsegment Theorem: e | o ; b
A midsegment of a triangle is _ %’@ Vil to one side of the triangle, and its length is Q%:’g e -

Ihatl
%‘ﬁ@f E"’?M the leng’rh of that side. In A AGP, if M and D are midpoints of AG and AP respectively, then
S (oo
ﬁ‘f VD and @ZE are parallel and MD is One . %"g}“) ’“"“’/ of GP.
6-8: Given each midsegment for each triangle, find x. Write an equation and show work to get x!
6. —4 N7 D<= 8. 150
K= 4 (A0) Ixels=£(8x )

X




Proportional Parts of Parallel Lines: i
If 3 or more parallel lines (w, x, y, and z ) intersect 2 transversals (s andt),” a /
then they cut off the transversals maé é . < b
a_b_c . a8.d gpb.eo_a . d «
d e f " e c ,g, a+b d+e ¢

9-10: Given parailel lines w, x, y, and z and transversals s and t, use proportions to solve for each valvue,

H
10. a=7,¢c=12,f=15 34{__%:{%

9. b=12,c=15d=1,ande =4,

if three or more parailel lines (w, x, v, andz ngruent segments on one fransversal [s/, 'fhen they '
cut off congruent segments on every fransversal (s and f).

11-12: Given parallel lines w, x, y, and z and transversals s and t, use proportions to solve for each value.

= M\ 3348 P\ 5-70

bx-5=Lxt? 33%’&3 -

REMEMBER: In similar triangles, keep the ratios consistent when setting up proportions.

part  part or sideA sideA _ sideA
part  part sideA sideA sideA

13-15 What is the difference between these problems? Write an equation for each and solve for x.
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